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1) Regarding maternal Rh(D) negative blood type,what would be the nextstep to

undertake?
_@Antibody screen at the first antenatal visit regardless of gé

b) Antibody screen only at 28 weeks of gestation

c) Antibody screen only at delivery e o e s VAL
d) A positive antibody screening test means that the fetushas hemolytic disea (2t e,

e) All of the above -

stational age

2) Which of the following represents normal thyroid function in the first half of
pregnancy?
a) Decrease in total thyroxine (T4) levels & T« -
b) Unchanged triiodothyronine (T3) levels * 2 -
c) Decrease in thyroxine binding globulin (TBG) levels T (&4 -
(@ Decrease in TSH in first trimester
e) Maternal thyroid volume is 30% higher

3) Regarding antithyroid drugs, which of the following is TRUE?
10 M@P"Opylthlouracil is preferred in the first trimester V'~ |25 UMaiy Yo cvo 0 plac e

ﬁf@ b) garbimazole Is preferred in the first trimester - prefevably coitled [ frw | tuvnather
G ropylthio i i : ‘

fdi i d; Cargiymazc';lrea;:sllrllse p;?;?orrxels at agff:iﬁtlDﬂ%‘ ages -—Cﬂ.&a"“f VO Cavbirvmanole \ e - Pe

_/Er.fi P - : MR 20 e Couupes clioesledt  Z e ‘)(

e) Carbimazole does not cross the placental barrier C’\ﬂm""l‘-«.ﬂt}f}u’rﬁﬁﬂ |
= Bt &M—S_{ Cross plotontt PCUL - Lepedohor.
4) Regarding severe obstetric anal sphincter injuries, the following statement is
FALSE?

a) 3" degree: 3a: < 50% of external anal sphincter thickness involved 7
b) 3" degree: 3b = 50% of external anal sphincter thickness involved
c) 3"“degree: 3c external anal sphincter and internal anal sphincters involved *~

,@3“’ degree: 3c external anal sphincter and internal anal sphincters involved and anal

epithelium involved X *tr~degeee
e) 4" degree: external anal sphincter and internal anal sphincters and anal epithelium

involved

5) Neonatal complication of gestational diabetes mellitus include

a. Hyperglycemia Rwdp%cewh- _ Iypornogs 59

b. Anemia _ fpev K ton o
@"CardiomyOpathy I e

d. Hypoinsulinemia . poud Y

e. Hypercalcemia r\ayocaﬂoowwh Cwmwao?%r
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6) As per WHO guidel
nes which of the fullnwimj ISa N ; -
o ° Aol > () I¢ rmal semenal
r/” A7 Volume — 1.5 m| | A% B0l alyis parameter?
D) 10 million spermatozoa/ml 2.0 BB ad - GO

ut---x"-f*-r.H\U"
C) 20 million spermatozoa per ejaculate

‘i'.'l'll[‘l o
d) 2% normal forms using "strict"”

' r, ._.1r+r - W T - fl:hl—tl; ‘:F‘L-L.,L

lygerberg criteria
. . 0/ g ' 8
e) 30% (otal (Progressive 4 mlllllln{_;n!t-;!‘.lw'r) lnntlllly (.."/” MK' rj.vt{,-p rastilorH

7) The leading causes of maternal mortality in low and middle income

_ \ 1 countries
lgclude ALL EXCEPT A
L a)*Thromboembolic disease ) “C;" 'h ol ot s (D
“ — " & L
b) Sepsis . et 8. >
. — - [ ]
c) Abortion .- \M PoLtegne = (2o . €Y,
1e i s sl ik - Uumsam - (2%,
d) f_jgmortlmgq o - L L el l{/d’m_ X ®@
€) Preeclampsia-eclampsia 51 R o ©
- OVvvov dlovecs (Copey /'
- DNOL _ x(ﬂ,u:‘g :J:_,rf/u

8) A hysterosalpingogram can evaluate the following pathologies EXCEPT

a. Submucous fibroids &) 1 G Nogy Lot detect oot (Qtvey

b. Intramural fibroids it tey do ot difort e cading
A&7 Endometriosis

d. Cornual fallopian tube block
e. Hydrosalpinx -

following services? |0 gevoies oy ghoc
a) Manual removal of placenta -
b) Cesarean section

c) Anticonvulsants “
Blood transfusion
All of the above

For questions 10-16 match the clinical features a-iwith the most appropriate diagnosis

a) Suppressive therapy recommended ~ \¥vpes - P
b) Inguinal lymphadenopathy including buboes which may form fistulas ~ A m?wﬂmwuﬂow
c) Positive amine or "whiff" test — 8o desd veuonT il LR L LU -
d) Vaginal pH between 4.0 and 4.5 _
e) Painless inflammatory nodules that progress to ulcers — Docioca cood A
f) Vagina and/or cervix subepithelial hemorrhages or “strawberry spots” —Tuth\ocmoces

g) Transmission is sexual and vertical -ToRCHEL B IR \oie UDRL Tw 41k

h) Vaginal pH less than 3.................. | | | DLoYie:
i) Tender inguinal and/or femoral lymphadenopathy that is typically un.l_literal.
10)Vulvovaginal candidiasis { umwov--cw““‘“&"
11)Bacterial vaginosis C %u‘gu@ ¢ wihe fupp )
12) Trichomonas vaginalis F L0 § Suppurehs +rdo -
13)Syphilis G \

14)Herpes A



r.,i;':.t
. ™ s
15)Chancroid & gV Qﬁ@’

16)Donovanosis B

' infection .
17)The following is NOT a common cause of urinary tract}

a. Escherichia coli v

b. Neisseria gonorrhoeae ./ | Llo P
c. Chlamydia trachomatis ~» = ccAv pewdle Py

7 Trichomonas vaginalis

. Enterococcus faecalis

18)Regarding asymptomatic bacteriuria in pregnancy, which is the CORRECT

statement? | wﬁl-t’ o-/gwjm |
a. Defined as >100,000 colony forming units of multiple coliforms -'éf‘ LIPS OATAS
b; More common in pregnant than non-pregnant women - LROOEHT ’qoo(g

If untreated, up to 40% results in symptomatic urinary tract infection =<
. Rf_sk fac?ors Include extremes of ageat pregnancy 1% fnoewie pev deced e -
e. Urinalysis is the gold standard for dlagnosis  _ s~ g

19)Multipurpose contraceptive prevention technology protects against
a. Pregnancy

b. HIV

c. Syphilis

d. Gonorrhea
@' All of the above

20)Combined hormonal contraceptives are associated with - C
a. Decreased bone density

b. Increased risk of ectopic pregnancy — A v oy Convled ?u;( ;L
C. Increased risk of benign breast diseases - 1 LG D - e b ech o el
d. Increased incidence and severity of acute salpingitis @ppouire 4o U

(&7 None of the above woamel culddRy “

21)Long acting reversible contraceptives include all of the following EXCEPT
a. Jadelle -<ya  (yplaguo- 3 Y

b. Mirena = <o4n

c. CopperT - & folanywa

ilateral tubal ligation X (Yveveadle

22)What is the recommended first line treatment for complicated malaria in
pregnancy?
a) Intravenous Quinine and clindamycin
travenous artesunate followed by artemisinin based combination therapy
C) Intravenous artesunate then quinine
d) Intravenous Quinine and doxycycline
e) Intravenous Quinine followed by artemisinin based combination therapy (ACT) - 299 Lo
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/ 23)Which of the following statements concerning abdominal pregnancy is CORRECT?

%}Gastrointastinal symptoms are quite often severe g WMM
" Fetal survival is approximately 50% - &avived o (0% ,&ﬁ?@w&iw Y. W

c. Aggressive attempts should be made to remove the placenta at the time of initial surgery ¢ .

d. It may result in infectious morbidity prior to the diagnosis X
e. It is usually the result of a primary abdominal implantation - AANOOSRE OGS 2

24) Intrauterine fetal demise at 17 weeks diagnosed 5 weeks later is at increased risk
of

a. Septic abortion
b. Recurrent abortion
Agxcaonsumptive coagulopathy with hypofibrinogenemia - oic .
. Future infertility
e. Ectopic pregnancies

25)Which of the following predisposes to ectopic pregnancy?

a. Recurrent UT]

B Pelvic inflammatory disease (PID)
¢. Progesterone containingintrauterine device (IUD) ¥

d. Induction of ovulation x
e. Exposure in utero to diethylstilbestrol (DES)

v

26)Combined oral contraceptives pills have been associated with which of the

following?

a. Pituitary adenoma
b. Ovarian cancer

c. Endometrial cancer
d. Hepatic cancer

@ Hepatic adenoma

27)A transverse lie of the fetus is least likely in the presence of:

a. Placenta previa. 7/

b. Pelvic contraction.

c. Preterm fetus.
d. Grand multiparity?”

@ Normal term fetus.
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28)The following ultrasonic measurements may be used to confirml OF GEESsS.
gestational age:
,..@Crown rump length
b.Nuchal pad thickening
c.Amniotic fluid volume
d.Yolk sac volume

e.Biophysical profile

29)Multip|elpregnancy Increases
a. In white people more than black X
(b:a With advancing maternal age —

¢. With Bromocriptine use for infertility treatment X
d. Iffirst pregnancy x —raltipacoas

e. After ovarian diathermy for polycystic ovary syndrome X

30)In twin qelivefie.s: Which of the following statement is TRUE?
a. The first twin is at greater risk than the second

b. They usually go post date x FOCua ) 2
. S i v e * (AL pLiefooo) 3
c. Epidural analgesia is best avoided X Wﬁj mﬁ(ﬁ’zﬁuﬁ Pole dlipiadt .-

@fj Commonest presentation is cephalic and second breech X Clc

There is increased risk of postpartum hemorrhage .
-C{C:

31)Which of the following is known to be the commonest presentation in twins?
a. Breech, cephalic

b. Cephalic, breech - %€ %
@ Cephalic, cephalic -%¢ %o -

d. Breech, breech

e. Cephalic, transverse

32)The most common cause of perinatal death in mono-amniotic twin is:

Cord entrapment. Covd. o luicfenasd -
. Cord prolapse.

c. Twin-twin transfusion syndrome. 1<-207, m Loeldi-
d. Lethal congenital anomalies.
e. Placental abruption.

33)Regarding missed abortion, all of the following are correct, EXCEPT:
a. Patient may present with loss of the symptoms of pregnancy v

b. Per vaginal bleeding may be one of the presenting symptom Room & w‘ff_,fo
@ Immediate evacuation should be done once the diagnosis is made > 3?}“9’5‘“’3‘% ;‘g
d. Dti)sseminated Intra-vascular coagulation may occur as a sequel of missed
abortion

e. Ultrasound should be done to confirm the diagnosis
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34)This is true regarding complete abortion:
a. Uterus is usually bigger than date ¥
b. Cervical os is open with tissue inside the cervix % -
c. Need to have evacuation of the uterus ¥

@After complete abortion there is minimal or no pain and minimal or no bleeding
e. Follow up with B-hCG for one year

35)Which is the most common cause of first trimester abortion?
(@ Chromosomal abnormalities

b. Syphilis

c. Rhesus isoimmunization

d. Cervical incompetence

e. Bicornuate uterus

36)Regarding ectopic pregnancy, all of the following are true, EXCEPT:
a. Is associated with uterine enlargement .~
b. Is situated in the ovary in about 0.5% of all cases _~ o
c. Is more dangerous when it is situated in the isthmus of the fallopian tube
{d7 Can only be diagnosed after it has ruptured = ««vuptuved eckopre puetecdc ottt

e. Is a complication of assisted conception .~ pot

37)The following are factors affecting Methotrexate as a choice of treatment for

ectopic pregnancy, EXCEPT: _ N
a. Slzezfﬂ?e egc‘[opicyl_/ ch Lo (24 fTLititn ¢ O A o vnele CWL-'Q‘)

b. Presence or absence of cardiac activity .~ —Abke—ce or phul co datg @JW%'
c. Level of B-hCG _ legs b 2000 10l aud c:')cf{_hugué )
@ Parity of the patient = H'f’r"ﬂod:ﬂuﬁ A U*OJ ud Ot e+ .

e. Integrity of the tube -

38) The commonest site of ectopic pregnancy S :
a. Peritoneal cavity
b. Mesosalpinx

c. Ovary ’
@-/ Ampulla of the fallopian tube << i
e. Isthmus portion of the fallopian tube

39) The following may be signs of abruptio placenta, EXCEPT :

a. Vaginal bleeding. v/
b. Absence of uterine contractionsy” — o «cecded fype .
¢.) Blood stained amniotic fluid. X’
. Abnormal fetal heart rate. v
e. Tense painful uterus. ./

Page 7 of 18



46)

40) The following aid in the diagnosis of Placenta previa,EXCEPT.
{ &7 Constant lower abdominal pain 7 — Pax~teie Pu ble ol -] 1

b. Malpresentation — |

c. Bright red vaginal bleeding

d. Obstetric ultrasound +~

e. History of repeated C-section. -

41)Regarding Postpartum haemorrhage, which of the following is CORRECT?

_(,ta:?- May occur as a consequence of antepartum haemorrhage.
. Ends with Hypercoagulable state “

C. Hysterectomy_is the first the first line of treatr%;nt - Ul rnastaae (oulol
d. Always complicates intrauterine fetal death (IUFD) LAASRE Y
e. Diagnosed only when the placenta is still undelivered

L.:"f"""{!:‘""} lLJI‘_rL-'

42)Regarding Secondary postpartum haemorrhage, which of the following is
CORRECT?

@ Is diagnosed when bleeding occurs 72 hours after delivery ~— 2%\ ko e «dop  puevpasins.
. Contra indicate breast feeding «

€. The commonest cause is the cervical tears y |4eckto

d. Very common when the patient delivers a congenitally abnormal baby & .
e. Choriocarcinoma could be a cause.

%43)In Disseminated intravascular coagulation (DIC), which of the following is
CORRECT?

a. [he levei of Fibrinogen degeneration products is low
b. Platelet count is high
(@7 Bleeding time is prolonged
d. Prothrombin Time and Partial Thromboplastin Time are normal
e. The Fibrinogen level is high u¢

44)Clinical causes of disseminating intravascular coagulation include the
following EXCEPT

a. Ectopic pregnancy

b. Septic abortion
(@ Mild preeclampsia —{ecere w it HeLLP

d. The use of tampons « = TorL Stk ?Bu&mww.
e. Intra Uterine Fetal Death.”

w 45)The following are absolute indications for Caesarean Section

a. Hydrocephalus ¥

b. Abruptio placenta *

. Preterm Labor

Active primary genital herpes v
e. Severe pre-eclampsia
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: 46)Which of the following statement is true regarding obstructed labour?
a. Diagnosed only when the cervix is fully dilated

b. Usually predicted before onset of labor
c. More common in developed countries

,@ In f:_ace presentation ,Mento-posterior position could be a cause
e. Delivery can safely be accomplished by vaccum extraction

47)Which of the followings is an absolute contraindication to a trial of labor after
__ cesarean delivery?

Q_a{ Prior classical incision.

b. Prior cesarean delivery for dystocia.

c. Prior Intra Uterine Fetal Death .

d. Ultrasound estimation of fetal weight of 3500g.
e. Prior cesarean delivery for breech.

48) The most serious complication of preterm premature rupture of membrane at
28 weeks:

a. Fetal compression anomaly.

(b7 Pulmonary hypoplasia.
c. Intrauterine infection.

d. Limb contraction.
e. Abruptio placenta.

49)The following are obstetric causes for premature labor EXCEPT:
a. Multiple pregnancy .~
(b7 Multiparity
c. Premature preterm rupture of the membrane

d. Cervical incompetence .~
e. Uterine congenital anomalies

50)In the diagnosis of premature rupture of the membrane, all of the following are true

EXCEPT: .
a. History of fluid loss per vagina «”

b. Visualization of amniotic fluid in the vagina by sterile speculum? -y
‘j‘%’!’_ c. Positive Nitrazine test / -deleckion & pit @H Ttha vegind \se%::«f;-—i *
5%‘0‘/ d. Positive fern test Wi}“ﬁi uﬂiz“’i_}"_oﬁz}{
e ,@ Positive methylene blue test _ . \ ., o

- premadure ‘wpture oo bee€s

Prematurity. Dl MR

. Advanced maternal age. _ pretevan oo
c. Uncoordinated uterine contractions.  edov tudaicho- st
d. Diabetic pregnant woman. _ Tudervensad fuck. &S -

e. Large pelvic vessels.
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v2)Complete breech means:

a. Flexion at hip joint and extension in knee joint

_ébj Flexion at hip joint and flexion at knee joint
c. Extension at the hip joint

d. Flexion at knee joint and extension at the hip joint o
e. Flexion of one leg at hip joint and extension of the other leg at the hip joint

©3)Which is theBEST screening and diagnostic test for gestational diabetes?
a. Fasting blood sugar

b. Random blood sugar
c. Serial blood sugars

(A Glucose tolerance test
e. None of the above

54)Regarding Injectable progesterone contraception, which of the following is false?
a. Medroxyparogesterone acetate is the most commonly used «
b. May cause irregular uterine bleeding .-
c. May cause amenorrhea. .

| e\ _dc-.‘;!"t “— .
@'Should not be given to lactating mother. = B-feedlo~sy @ < Nl creso
e. Does not carry a risk of venous thrombosis. - stk

55)With regards to contraception failure, the pearl index refers to: NV f’:’( el oo
a. Numbers of Pregnancies in years. - o 2 v 0

b. Number of pregnancies in 1 woman-year.

J a8

@ Number of pregnancies in 100 woman-year. Gpeé&gju‘

d. Number of pregnancies in 100 woman-years over pregnancy losses.

e. Number of Pregnancy losses in 100 woman-years.

56) The following is a recognized feature of Sheehan syndrome.

a. Menorrhagia x T paulypopthiied T b olade-
b. Galactorrhea x e H’f‘ﬁj\fjfiﬁ >t — ‘-‘;ﬂ
c. Insulin resistance X - b A

¢d) Hypothyroidism - cecondics Lugpoiigodan, plAg; A 1

e. Dwarfism —nv G+ -

57)All the following are possible causes of menorrhagia, EXCEPT
a. Uterine fibroid::-fv‘owm ot
b. Adenomyosis
c. Pelvic inflammatory disease
d. Endometrial hyperplasia
(e Combined oral contraceptive pills X
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58)Regarding menopause, which of the followi

a T e * | Vi ng is CORRECT?

% Phere IS mcr_ease In vaginal a(';ldlty, & = Beconlsy Mmoo Wbl rm Atctllv JO ceee o
. Gonadotropins level fallg ¥ #<ie : o

c. There is increase in bone density¥ de c re e s

ﬁ:./ The size of an existing fibroid increased” Jecvewe.
25 Post-menopausal bleeding should be Investigated by endometrial biopsy

a. Subtract 7 to the date, subtract 9 fromthe month &
A7 Add 7 to the date. substract 3 from the month
C. Add 7 to the date, add 3 to the month

d. Subtract 7 to the date, add 3 to the month «
e. Add 3 to the date, subtract 3 from the month %

(g

60)}Nhat causes softening and blueish color of the cervix in early pregnancy A L"‘_L“Q o
4. Increased vascularity r P
. Decreased blood flow Hega v 'S Fh--
c. Decreased oxygen
d. Atrophy oud ok
e. None of the above ye I fuuse FC
N Flﬂ»\fﬁ _\,gf\ww{t.,@}r g

61) Surgical removal of corpus luteum of pregnancy at 7 weeks of gestation may
result in
Spontaneous abortion _ 'Pyﬂﬁm(;uf-j Cerimn ot 2R (*uirf'mbﬂfg-
. Gestational diabetes »
c. Hypertension in pregnancy
d. Abdominal pregnancy «
e. No effect on the pregnancy %

62)What is the mean volume of blood is lost during normal vaginal delivery of a

singleton pregnancy? |

> 250 mi PPH > DOV VD,
= 750 ml 51000 nd TS
c. 900 ml

d. 1000 ml
e. 1200 ml

63)In which of the following positon is cardiac output most increased in the pregnant

woman I
A oft lateral recumbent — r© CovpreL e G T

" Right lateral recumbent

c. Standing
d. Supine
e None of the above
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64)At what level does compression of the ureters by the gravid uterus occur:

a. Bladder trigone

By-Pelvic brim

c. Sacrospinous ligaments
d. Ureterovesical junction

e. Infundibulopelvic ligament

65)Weight gain in normal pregnancy -\ Kq (5 tivate

a. Is distributed equally in all trimesters X

b. Averages about 16 kg X (4-s" F5
te> Occurs more commonly in 2nd trimester <ok = 1R K-

d. Is closely related to the birth weightx - pve preguaccey g

e. Is closely related to age of the mother x

T e ROl (- r_::_.;g't""“':p—ﬁf g Lo 0o,

66)Concerning transfer of gases through the placenta, which of the following IS
FALSE
a. Oxygen crosses the placental membrane by simple diffusion =~
b. Carbon dioxide crosses the placental membrane by simple diffusion <~
c. Carbon monoxide crosses the placental membrane by facilitated diffusion
d. Inhaled anaesthetics cross the placental membrane ./ i
@'Nitrous oxide does not cross the placental membrane

67)At what gestation does the gravid uterus stop being a pelvic organ?
a. 10 weeks

_(B) 12 weeks

c. 14 weeks
d. 16 weeks
e. 18 weeks

68)Uterine enlargement in pregnancy is due to: o cpleint
a. Hyperplasia Botu, Lype kv opsd § “WdP .
>Hypertrophy and stretching Loy e

~ Atrophy with collagen replacement
d. Hyperplasia and hypertrophy play equal roles
e. None of the above

69)Mildred Adhiambo presents on 24" July with per vaginal bleeding and last normal
menstrual periods started on 12'" of January 2017 and ended on 15" Jamﬂgy 2017.

?
Which of the following is correct? 4 oyt Y 9 A
. Last normal menstrual period (LNMP) was 15/01/2017 X = pe~od. Wiic TV Y
,@' Her gestation by dates on April 24, 2017 was14 weeks 4 days - B==t 2\ :
¢ Her expected date of delivery is November 19, 2017 —  sRe xﬁy %'\ 0
d. All of the above 26 (3| 0@ -*‘3% Y
e. None of the above ¥ f\?%
1 3 % el 3
jal.n - lﬁ 13:1
i fhey T T
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70) In taki i
INg history of a ¢ : senti '

ool o g "}" a tr(fuplt: presenting with Infertility, the fem
R 0 be para 0 + 2. The following may be true except
d. FCVIOUS miscarriage at 12 weeks '

)y . :
b.  Previous ruptured cctopic pregnancy
“ D ry v
. Previous pregnancy loss at 22 weeks

.) o o ’ ) - 1 : i ’ R

Previous termination of pregnancy at 6 weeks

d.
@ Previous still birth at 36 weeks

ale patient was

71) Which. of the following is not a fetal biophysical profile variable
a. Amniotic fluid index .-

b. Breathing

Fetal presentation
d. Body movement v
e. letal tone _-

72) Between 14 and 26 weeks of gestation, which of the following is the most accurate

parameter for gestational age assessment Clee aud 28w q)
a. Femur length W\ £ ens-cecebetlon  dremaler

‘@ Biparietal diameter ~ @ |
c. Crown-rump length = | e fLromeqter ‘C9 fo 12 2ks) ﬁ
d. Abdominal circumference BPR= “w/{’ Codadned -
¢. None of the above

73)In performing investigations in reproductive health, the following clusters of
investigations are relevant: 3
a. Fibroids: ultrasound, X-ray pélvis, full blood count
b. Urinary tract infection in pregnancy: Mid-stream specimen of urine for microscopy, culture
sensitivity, intra-venous urogram, renal ultrasound
Pre-eclampsia: urinalysis for proteinuria, ultrasound for biophysical profiles, liver function
tests for transaminases B .
d. Infertility: seminalysis, hysterosalphingo gram (HSG), X-ray pelvis
e. Preterm premature rupture of membranes: speculum cxamina_t_ion., antibiotic therapy, bed | rest

74) What are the cardinal movements of labor (in order, starting with first movement)
a. Descent , engagement, flexion, internal rotation, extension, external rotation, expulsion

b. *Descent, flexion, engagement, internal rotation, extension, external rotation, expulsion
Engagement, descent, flexion, internal rotation, extension, external rotation, expulsion
d. Engagement, flexiondescent, internal rotation, extension, external rotation, expulsion

¢. None of the above
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o o rred at term
76)In which situation should standard digital examination be defe _

7 Bleading in excess of bloody show
b, Maternal fover

¢, Mationt nervousness

d. Suspected ruptured membranes

Q. Severe hypertensive disease in pregnancy

76)When should the fetal heart rate be auscultated during labor
a. Before a contraction
L. During a contraction

}w"]lmnmdim(-aly after a contraction
d. Anytime

Y @. 15 minutes after a contraction

/7)In third stage of labor, which of the following is not a sign of placental separation
a. A gush of blood -~

b. Uterus rises in the abdomenw’ T

C. Umbilical cord protrudes further out of the vagina “ — cord FH-
) Uterus becomes flaccid Awm & gloladar ¢ cIKTLg FF- .
e. Uterus contracts

78)Active management 1*! stage of labour does not include which of the following
a. Amniotomy as needed ./

b. Commitment to deliver within a certain timeframe .~
c. Oxytocin augmentation

q. Repeated vaginal examination v
‘@ Assisted vaginal delivery _ j»d ¢oge

79)Concerning Bishop’s Score which of the following is FALSE?
a. Includes cervical dilatation, cervical effacement cervical consistency, cervical position and

station of the presenting part. v/
b. Duration of labour is inversely correlated to the score — koo
c. When the score ﬁ favorable the preferred pharmacological agent for induction is -
misoprostol g ___ Qo>
Score of less than 6 requires cervical ripening” _ ok fowourable for Tadbedo -

@AM of the above

80)During lactation, all the following statements are true EXCEPT
a. Oxytocin causes the myoepithehial cells of the breast to contract .~

b. Ovulation is often delayed

c. Prolactin secretion is stimulated by suckling ./
yThe administration of a progestogens will suppress milk production &
e. The administration of oestrogen will suppress milk production
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81)The followi
ng are useful in the management 0S|

o | of
/& Cortocosteroids tawde-rfeo < U § endometriosis EXCEPT

b. Danazol >
C. Gonadotropin releasing hormone agonists .~
d. The oral contraceptive pill _-
e.

Dienogest

82)Concerning prevention of mother to child transmission of HIV, which of the

_~——following statements is FALSE
( ‘aAll pregnant mothers should only be counseled and tested during their 1*' Antenatal care

VISt

b. Pregnant women can be counselled and tested for HIV in labor .~
C. {-\II HIV exposed infants should be given Nevirapine prophylaxis for the first 12 weeks of =
life Zidovindi® e Nevovafive (Dv 6wy beae NQ i vCP T oSt fov b w '
d. All HIV infected women are counselled and started on ART for life
ed mothers

e. An _integrated approach to care is recommended in managing HIV infect
during the postnatal period

83)Optimal intrapartum care for HIV pregnant women includes one of the following

_g_;ﬁ Artificial rupture of membranes immediately when labor is established ~
(b7 Use of antiseptics techniques in conducting delivery
c. Frequent vaginal examinations done every two hours

d. Routine episiotomies *
e Cesarean section for all HIV infected pregnant women at term X

84) The World Health Organization has identified reproductive health to include which

of the following dimensions?
a. Physical, vocational, ethnic

b. Emotional, social, spiritual
>~ Physical, mental, social
. Spiritual, vocational, gender-related

e. Physical, emotional, social

85)Barriers to reproductive healtb/sewices include all of the following EXCEPT

a. Lack of women empowerment !
b. Weak health management systems

c. Lack of community engagement
Male involvement
’ Poor growth of the economy P4

ts is TRUE?
actX

86)Which of the following statemen
e because the victim is often to blame for the

a. Sexual violence is an unusual crim

b. A man cannot rape his wife
¢. Boys and men cannot be victims O

@’Most rapes are not reported to the police
e. Male rape by other men is mostly a problem for gay men &

f sexual violence from men and women X
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87)Which of the following is true regarding the reproductive system? ~odlevaun | POYGnA2 bo
a. In females develops from Mesonephric system < [T Mot = o
b. In makes develops from Mullerian system &
c. Develops similar structures in males and female «
d. In males is not dependent on hormones o

[,Qj Is passive in females compared to men

88) Regarding the Wolfian duct in the female which is the correct statement?
a. Develops into the fallopian tube
b. Forms the ovary
c. Forms the infundibulopelvic ligament o
#’) Regresses and becomes vestigial \f 't Pl i *‘kw%
e. None of the above (rturkwers dardt

—

s L,-I -5

89)The function of the round ligament is to
a. prevent uterine prolapse

b. provide nerve supply to the upper vagina
(€ prevent retrodisplacement of the uterus - |

_--"‘-"F"

d. Support the ovaires
e. Supports the fallopian tubes

LQ,LQJL“D—L Q,_,,_Q_Qufi.k'&-m -

90) The most common symptom associated with adenomyosis is
a. Infertility

@ Menorrhagia

. Haematometra
d. Dyspareunia
e. Metrorrhagia

91)The differential diagggsis for vaginal cysts include
a. Cystocele » %7
b. Urethral diverticulum*”

c. Urethrocoele .~ o
d. Hydrocele of the canal of Nuck

@An of the above

4 92)The primary lymphatic drainage of the lower vagina is to the 1
a. External iliac lymph nodes AP Per /1
b. Sacral lymph nodes weddle Uz _

emoral lymph nodes w{’m o

| uperﬁcial inguinal lymph nodes o el

#) Internal iliac lymph nodes g Qo
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g iyntgtmbiol 'y treatment of molar pregn:

‘A1) Egtjr;lirjn Curettage it
C. ().?(yl()(}irl Induction
d. Misoprostol Induction
€. Methotrexate

a. Cardinal liga

ments .~
b. UterOSacral |igaments - | pupewur fvppovl | Pl Roued Lb VI =3 I U5
g : : P YT oy el *tﬁi{ r.I.'L
[j An 'ntaCt per'neal bOdy .") v IANAA .['0 t()li‘ & Lil_)lu‘”‘_a{ = *"T" G L0 VTR {‘L‘i., vom . U I da p‘ O [ ¢ '.“-[w.
d. Pu : - \Hk-vu-u.m.ﬂ | :
bocervical ligaments () Ao ¢ o llod QeveiSaal (g G DT
e, ' o Lowev Huppe L) N B L iy 2
Transverse ligament .~ ohdd . ﬁ\-jM Op: Hi o

#95)Interstitial gia due to
, uterine myomas most oft |
en cause menorrhagi t
a. Secondary degeneration

b. Rupture of the endometrial cavity
C. Pressure necrosis

Inhibition of uterine contractility
e. Prolapse

% 96)Osteoporosis is associated with all the following EXCEPT:
a. Early Menopause«

b. Long-term Heparin therapy,~
¢. Turner's syndrome

d. Glucocorticoid therapyJ‘/

mmy-cystic ovary syndrome

97)During puberty, which of the following is the last event

“SMenarche — [~ ‘ s
b?Adrerlarcr]e """‘i)[AJﬁLLf L\{.‘.--U‘ (AV-WLPL" 1.{1_}£ (.

c. Thelarche --«bw:-affs‘l
d. Pubarche - fn-um
e, Coitarche

[
/mf’iAsP

4 98)Which of the following statements is FALSE

a. No new ova are formed after birth/ -~ " .
b, During fetal period, the ovaries contain over 7 million germ cells

¢ The first meiotic division is completed after ovulation

d_ The number of ova in both ovaries at the time of puberty is less than 300,000 s

~ There are no ova after menopause’ — \ewo  enowoai-s
Ooerpkas

Page 17 of 18




99)At what stage does conceptus implant
a. Zygote
b. Morula
[ CoBlastocyst
d. Embryo
@, Blastomere

100)  Which of the following statement is true regarding stages of development
before birth? Yo gr-Reers

a. Pre-embryonic period is week 2 to week 6

b. The main events of fetal period include formation of morula, blastogenesis, and
_implantation — p»°eaabugot

(_-ac::) Embryonic period is week 3 to week 8 and the main events is organogenesis including

| development of germ cell layers, placenta, and body systems

d. Fetal period is week 3 weeks to 9 weeks <

e. Ihe main events of pre-embryonic period include organ growth and development, and

functioning of locomotor system X .

THE END
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